13) + (=7) + (+13)
(=7) + (=13) + (+13)
(=7) + {(-13) + (+13)}
(-1 +0




-101

101 _

@ (-1)

O -22

3






4. BAEAE olgoto] Bhe-g Astolel,
(103 x 3.14 — 3 x 3.14) + (20 X 1 + 20 x 99)

e =
-



5. ol® A% a ol -15% wsjo} shov] FRsto] Mgl ALt -9
7 BI9lek, Bk ARG ghe bt T, a— b O g FHHE?

D -24 ® -6 ® 0 @ 15 ® 24






T x=(-1)x3,y=(-2)x (-3) &, xxy o] 3L Fs}eiet,

Be
»



_(_1)10 + (_1)15 + (_1)21

@ 1 B 3

3 0



a, bl 5t axb <0, a>b Q4 W, I} 5 7}

@ b B a+b @ a-»b

7

P
=7

B b-a



10.

o= ( )RE7F Yol A2 Sold Ao &2 A2
2x13-3x13+4x13=(7}F)x13 = (1)

®© @7hH: -1, (4 13 @ (7hH: 1, (}): 13

® ChH:2,t): 26 @ ChH:2, () : 39

® h:3,(h: 39




11, (4+25) + (=34) + (-25) & ALttt

>R



12. thg AL 2} b 2 e

@ -75+45-3 @—7—28+49
1 3 5 1
—— =4+ —=-2.
© 3 6 12 5



olJ

® 5 B 7 @ 9 A 11

@D 3



® 14 @ 10

1

@D 2



15.

Al T84 a, b, ¢ ol st B2 5 &4

[e] [e]
T ALY

@ axb=bxa

@ (a+b)+c=a+ (b+c)
® axbxc=ax(bxc) @a+b:a><%(‘ﬂ',b¢0)
® a+brc=a=+(b=0)



16.

S Z~32]

S A A H A, B A
Z2 A = C o He
St= 8 otH?

@ @

|
Wil N
| ot

L do!

|
ISR s

ol w

Ol

2| 97



17.

[15] &= 155 94 ¢ 7P & Z5olth ot [-1.6] + [5.6]

Artsh?

D -1

® 2



ol

LSy
1

e F WAL So R i

~—

—

~—

—~

~—

S o
T+ F
L [
—~ 2 o -
T2
T o+ o+ o+
> & © @
T+ £+

—  ~—

—_ T~ Y~

. ~— ~— ~—

— —~ o~

—_ —  ~—

©
©
@
®




o

HE

T M

o X

% B

T ol

% _

m 1

ol

Gl

‘OI —

g (_\

Y = A

W i

7_L T
0

w9 9

‘I_



